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OgAE S5 50,0002 *7H 350
OLdegs JIEEE 2,106




FA: SIMR D

I Agelsl 28 A
el UWeRle Qe 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
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od Blﬁ(HIOIEi) ANEZ(EH) 7,260
23] Il &5 (500Mops)
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205 2|5/H| 593,311 477,204 116,107
01 & &=H] 118,800 105,600 13,200
(O ESE-E=tl 1,100,000&x0E «12& 118,800
2 8= 254,571 223,160 31,411
o2d=¢ 2,357,130 9« 122 254,571
03 2|2 =LHOHI 20,520 17,472 3,048
023 SEA 95,0002 9 *x32 *42| 10,260
OREE N2 48 % EIA - & 248t
95,0002 «*QEH *x32 43 10,260
04 2|3 =20H| 26,100 0 26,100
O2d 82=% £& 2,900,000 x0H 26,100
06 2AH=ESS3H 51,550 46,600 4,950
oy YBELH| 4,950, 00029 44,550
OulaZMSEABIAY|
1,000,000 +7H 7,000
06 232 AR FAl] 75,336 42,936 32,400
oo 2,178,000 «1&~12& 26,136
(OESES, 1,100,000& x1E 12 13,200
odgRAH 900, 0002 «3H*12& 32,400
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900,0002 x1H*43] 3,600
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O2g IEU=HI 200,000 x0H +23] 3,600
O3 XA usH 1,000,000& 22 2,000
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O/ 2ZtAE WFH|
1,200,0002 9 10,800
10 AZEAMRE = 7,000 7,000 0




2A: 23AIR
= K|gols] 29 N
el ¥Es 43t (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OXIAZXXIF3EHEH S RES
7,000,000& 7,000
1 oAJ}A=CHAZRE S 12,960 11,520 1,440
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120,000 9F 122 12,960
12 A= VUAHLRE S 10,074 8,516 1,558
QLA=UAHARLZ
83, 100& x99~ 12& 8,975
OLoEIRLEBEZ
10,1702 x9H « 12& 1,09
Y2 ZHI(2ISAFR 1 1,393,135 1,259,948 133,187
ol 2| 1,314,075 1,173,158 140,917
olE2A| 1,314,075 1,173,158 140,917
101 2124 d| 1,223,507 1,137,998 85,509
01 8= 1,025,395 972,793 52,602
OpIE== 752,963
O (162) 752,963
S5z (A=H) 87,79%5,4603*3H 263,387
-623(1958) 3,944,000 x5F 128 236,640
72208 2) 3,631,000& x3F »12& 130,716
-82(632) 2,209,000 x3¥ + 12& 79,524
93(338) 1,779,000& x2Z =128 42,69
OAIZt2=E 85,607
OA24! 12,3213 x13H *3BA 2H 123 67,273
O%sbIM 1, 28 1
12,3213 x2+62A1 2t 12 18,334
OHIAZR A=Y
12,3213 158 4 A 2+ x4Z D | 2,958
o= 90,041
o¥z2+e 489,576,000 *2/12+0.45 36,719
OJ=EsY 18,240
-t <kt 40,0003 =158« 12& 7,200
-2 2= 20,0003 =208 12& 4,800
-SAINE(SMAHA)
60,0002 x7F+12& 5,040
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100,000 x1H +12& 1,200
OFZFEIH= 11,760
-5~104 0| ot 50,0003 x4F 123 2,400
-10~154 0|2t 60,0003 x2H 123 1,440
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OLlAt==& 11,280
5= 80,0003+ 12& 2,880
= 60,0003 x5 =123 3,600
7= 0I5t 50,0003 «8H 123 4,800
Ofga2e=< 480
-H2E 40,0002+ 18+ 12& 480
OFAZAH| 140, 00081162+ 122 26,880
OFEEFOHI 489,576,000 *2/12+60% 48,958
OHIHE &M
752,963, 0002 *1/12%80%+1/30% 10 17,988
02 JIEt& 2 151,057 111,871 39,186
©J12=(LIIH) 126,428
OErAIIHI(72)
4,325,003 2B+ 128 103,803
OAIZHEEH Ot=2
1,885,410&*1Z* 123 22,625
OPJE=E = 2,880
O <At 40,0002 2+ 12& 960
OF2It=E 20,0003 x2F 123 480
ORLII=(SMAH)
60,0002 x2F +12& 1,440
OSEHRE(AZHEER 012)
81,0803 x 1+ 12& 973
(OFSELF= ] 140,000 *3F 122 5,040
OGIIEAHI(LDIH) 2,538
OLErRAIIM(T2)
103,803,000 * 1/ 12+84%+86%+*1/30+ 10 2,083
OAIRHEE R Ot
1,885,410 x84%+*80%+*1/30%1/7*/0 Al 2t+1H 455
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11, 130Rx2H+35A| 20 123 9,350
OAIRHEEH Ot
9, 1602+ 1H+35A1 2++ 128 3,848
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o= 47,055
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OX Qx| 145,000 12+ 128 1,740
OYE IOt 2,081, 300& * 1 +x60%+23| 2,498
OHAxt=< 104,000& *1Hx 10 1,040
OAlIZtel=g
13,0002 *1.5%48A| 2t x 15+ 12& 11,232
204 MR AY| 40,568 35,160 5,408
02 =22 40,568 35,160 5,408
O53 250,000& x3H x 123 9,000
©f=1 175,000 +5F 128 10,500
or= 165,000& *3H x 122 5,940
©8= 0l3t 155,000 x5 » 12 9,300
OLBAIHI(72) 175,000 x2%H 123 4,200
OAIZIEEH LIIHI(92 &)
155,000 *35/40% 15 12 1,628
303 L&z 50,000 50,000
02 43 50,000 50,000
oYLy 50,000,000& 50,000
JlE2&l 79,060 86,790 AT,730
J|1E23H4| 79,060 86,790 AT,730
201 Lt | 40,200 35,710 4,490
01 A=R2teld| 39,900 35,410 4,490
OgEt=2H| 7,500
OJIZAREE ¢
5,0002x20E 123 1,200
OJIE8 HEgE 7Y 250,000& 250
O=AEX 7Y 1,900
M 20,0003 «80&t At 1,600
B4 30,000 104t At 300
OZHdIoIMERIH EH #&
250,000& *3&*12] 750
OJtdiet =2l ¥ A2F 7
200,000& 200
OJIHE MNEH(232dE S 49Ha)
400,000 44 2 x13] 1,600
Ooga o A4 AE 1,600,000 1,600
O=2t| 19,200
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20,0002 x19 62+ 122 27,360
0JI2YRET BUSHOIHI(BLE)
10,0002 * 1H* 102 * 122 1,200
203 =4l 6,700 5,480 1,220
02 32 JRHH 2= 1,600 1,280 320
©100E X 80,0002 x20H 1,600
M EASHLRFAH 5,100 4,200 900
SAN2ILR =AY 5,100
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250,000 x 122 3,000
Od=9I2 4 (102! 0I5t
175,000& 122 2,100
204 MR AH| 3,600 3,600
01 MG HI=HAHH| 3,600 3,600
ons, M2 (52)
100,000 x3& * 122 3,600




